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6.

(a) True

1 000 1 000 1 0 0 O

0 200 1100 2 2 00
(b) False » A= B= AB=

0 010 0010 0 010

0 001 1100 1100
(c) True

1 2 2 0 4 2] ,[1 4] _, [4
d) False » A= B= AB= A= B%=

0 1 11 11 01 3

, {18 10} [16 4
(AB)*=(AB)(AB)= ”

5 3 3 1

{1 2} {2 0} [3 2}
(e)False » A= B= A+B=
01 11 1 2

e , [11 107 [13 8] ,
(A+B)’=A"+AB+BA+B'=| # 4|7 AT+2AB+B

}: A’B’

6 5

1.

1 0 01 O

1 -101 -3
(a) X=

11 01 O

1 0 3 2 6

-1 1 -11

1 -1 10
(b) X=

-11 0 0

1 0 0 0
8.

The same is true for all other columns of C.

- AC=l

~.BAC=B(AC)=BI=B

. BA=I

~.BAC=(BA)C=IC=C

= BAC=B(AC)=(BA)C=BI=IC

= left-inverse B equals the right-inverse C.



